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Name              Date       

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

  Lesson 8 Problem Set MATHEMATICS CURRICULUM 5•3 

Name              Date       

 

1.  Add or subtract. 

 

a) 2 + 1
1

5
= b) 2 − 1

3

8
= 

c) 5
2

5
 + 2

3

5
= d) 4 − 2

2

7
= 

e) 9
3

4
 + 8 = f) 17 − 15

2

3
= 

g) 15 + 17
2

3
= h) 100 − 20

7

8
= 

2. Calvin had 30 minutes in time-out.  For the first 23 1/3 minutes, Calvin counted spots on the ceiling.  For 

the rest of the time he made faces at his stuffed tiger.  How long did Calvin spend making faces at his 

tiger? 
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3. Linda planned to spend 9 hours practicing piano this week.  By Tuesday, she had spent 2 1/2 hours 

practicing.  How much longer does she need to practice to reach her goal? 

 

 

 

 

 

 

 

 

 

 

 

4. Gary says that 3 − 1
1

3
 will be more than 2, since 3 – 1 is 2.  Draw a picture to prove that Gary is wrong. 
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Name              Date       

 

Add or subtract. 

 

 

1)  5 + 1
7

8
=  

 

 

 

2) 3 − 1
3

4
=  

 

3) 7
3

8
 + 4 =  

 

 

 

 

 

4) 4 − 2
3

7
=  

 

  

 

 

 

 

 

 



 
 

 

 

 

  Lesson 8 Homework MATHEMATICS CURRICULUM 5•3 
  

Name              Date       

 

1.  Add or subtract. 

 

a) 3 + 1
1

4
= b) 2 − 1

5

8
= 

c) 5
2

5
 + 2

3

5
= d) 4 − 2

5

7
= 

e) 8
4

5
 + 7 = f) 18 − 15

3

4
= 

g) 16 + 18
5

6
= h) 100 − 50

3

8
= 

2. The total length of two ribbons is 13 meters.  If one ribbon is 7 
5

8
 meters long, what is the length of the 

other ribbon? 

 

 

 

 

  



 
 

 

 

 

  Lesson 8 Homework MATHEMATICS CURRICULUM 5•3 
  

3. It took Sandy two hours to jog 13 miles.  She ran 7 1/2 miles in the first hour.  How far did she run during 

the second hour? 

 

 

 

 

 

 

 

 

 

 

 

4. Andre says that 5
3

4
 + 2

1

4
= 7

1

2
  because 7

4

8
= 7

1

2
.  Identify his mistake.  Draw a picture to prove that he 

is wrong. 

 

 


